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COMMERCE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. Attempt all the questions.

Which of the following denote the

structural changes in Indian economy ?

(A) Primary sector contribution has
gone down.

(B) Service sector contribution has
gone up.

(C) Secondary sector has not
changed much.

(D) All of the above

Broad Money has to be sensitized
through :

(A) CRR

(B) SLR

(C) Repo Rate

(D) All of the above

Which one is not an element of legal

environment ?

(A) Act of Parliamentarians in Lok
Sabha

(B) Indian Contract Act, 1872

(C) Indian Partnership Act, 1932

(D) Negotiable instruments  Act,
1881

Out of the following, which are four
dimensions of Human Development
Index ?

(1) Life Expectancy

(i) Literacy Level

(iii)) Success Rate of Marriages

(iv) Standard of Living

(v) Crime Rate

(vi) Corruption Level

(vil) Economic Entitlement

(viii) Foreign Visits

Codes :

(A) (1), (i), (vi) and (viii)

(B) (1), (i), (iv) and (vii)

(C) (1), (i11), (vi) and (vii)

(D) (iii), (v), (vii) and (viii)
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Public Enterprise is defined as

(A) An organisation run by joint
efforts of Centre and State
Governments.

(B) An organisation which caters to
the needs relating to public
utilities.

(C) An organisation in which capital
is invested by public.

(D) An organisation owned and
managed by public authorities
for definite set of public
purposes.

Match List-I with List-II and select the
correct answer :

List -1 List - 1I
(i) Measurement (a) Accrues to
of income the equity of
owners
(i1)) Recognition (b) Recognition
of expense of revenue
(iii) Basis of (c) Matching
realization revenue with
expenses
(iv) Identification (d) Accounting
of revenue period
Codes :

1 ) @) Gv)
A) (@ B (© (@
B) b)) @ (© (@
© @© @ (@ (O
D) © @ @b @
Consider the following items :
(i) Debentures
(i1) Prepaid rent
(iii) Interest accrued
(iv) Bank overdraft
Which of them are current liabilities ?
(A) (), (i), (i) and (iv)
B) (@)
(C) (1), (ii1) and (iv)
(D) (), (i) and (iii)
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W : 9 UvTT H Ue (50) 9 - foehedid U9 € | U TR S aT (2) S E | |t U AFe € |

1.

FAfaRad | S |1 9IRAT 37 e

T HLETeHe TRedT ol ST & 2

(A) vTIHE &7 H AGH HH T T
T

(B) WaT & T AT 9aT € |

(C) Tadiass & § ®fE 31iyeh URe =i
TIE |

(D) SURIeRT Tt

foega g1 Bt fohaeh §RT GegAwier ST
g 2

(A) dI. AR, 3.

(B) TH. TA. 3.

(C) W

(D) SWIe Tt

fefafea 9 9 = @ fafg-oieror =
T 78T & 9

(A) I AT H FERT % Fe

(B) R WreRT Ttaiad, 1872

(C) YRAT |ERR Aa=ad, 1932
(D) ekt foraea etfufam, 1881

freffed § ¥ 9Fa faea gasis &
T A i 9 & 2

(i)  STe TreaaT

(i) TR T

(i) for@mel S Fherdr 5T
(iv) Siem T’

(v) 3JIIE I

(vi) Y=ER & &Y

(vil) 3T TP

(viii) fereett ammd

E T

(A) (i), (ii), (vi) 3 (viii)
B) (i), (ii), (iv) R (vii)
(C) (i), (iii), (vi) 3T (vii)
(D) (i), (v), (vii) 3T (viii)
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mérsrﬁm% IUSHH I TH TR TR foha

Sicll

(A) TH T 59 &5 T T TWHRI
o ST WA ST AT ST § |

(B) UH WA S clih  SUAITCTS
et SEvaeharatl sl g e € |

(C) UH G o oSt w1 faer o
g o ST & |

(D) UH Tied STaeh @i Ue e
eI WITEeoT gRT Gresiieh
VAT & oW Tohan ST & |

-1 B G-I F GAIT HINT R F&
IR H =TT BT
= - 10

e -1
(i) SMAHAT  (a) TAHA THAT Bl
T Bl & |
(b) 3T I T
(c) T 1 Tdr
e
(d) T ety

(i) @ o I
(iii) STl % STTER

(iv) T &

PRI
&<

i) @G Gi) (v)
A @ ®) (© @
B) b @ © @
© © @ @ ®
D © @@ b (@

fFAfeAfEd W foem wifT
(i) RO
(i) gd vew fomran
(iii) 3TTa =
(iv) o atfufasy
(A) (i), (i), (iii) 3 (iv)
B) (v)
() (i), (iii) 3 (iv)
D) (i), (i) 2R (iii)
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10.

11.

Conversion cost is the sum of

(A) Indirect
overhead

wages and factory

(B) Direct wages, direct expenses
and factory overhead

(C) Direct material cost and indirect
wages

(D) Prime cost and
distribution overhead

selling &

(A) Assertion : Premium received on
issue of shares is credited to
share premium account but not to
Profit and Loss account.

(R) Reasoning : Since share premium
is not a trading profit, it is not
distributed to shareholders.

(A) Both (A) and (R) are true but (R)
is not correct explanation to (A).

(B) (A)is false but (R) is correct.

(C) Both (A) and (R) are true and (R)
is correct explanation of (A).

(D) (A)is correct but (R) is false.

Consider the following :

(i)  Basic defensive and interval ratio
(i1)) Current ratio

(iii)) Superquick ratio

(iv) Quick ratio

Arrange these ratios in sequence to

reflect the liquidity in descending
order.

(A) (i), (iv), (iii) and (i)
@) (), (ii), (iv) and (iii)
(C) (iv), (i), (iii) and (i)
(D) (iii), (iv), (i) and (ii)

Normally Demand curve slopes
(A) Upward

(B) Downward

(C) Horizontal

(D) Vertical

Paper-1I

12.

13.

14.

Which of the following refers to
Perfect Competition ?

(i) There are restrictions on buyers
and sellers

(i) There are no restrictions on
movement of goods

(iii) There are no restrictions on
factors of production

Correct one is

(A) only (1) and (i1)
(B) only (i1) and (iii)
(C) only (i) and (ii1)
(D) only (i)

Assertion (A): Total utility will be
maximum when marginal utility
to price of respective products
are equal.

Reason (R) : Deviation from this
situation leads to reduction in
maximum utility.

(A) (A) and (R) are not correct.

(B) (A) is correct but (R) is not
correct.

(C) (A)and (R) are correct.

(D) (A)is incorrect, (R) is correct.

Match List-1 with List-II and select the
correct answer.

List -1 List - II

(i) Survival (a) Economic
Objective

(i) R.O.I (b) Natural Urge

(iii) Growth (c) Business
Purpose

(iv) Innovation (d) Primary
Objective

Codes :

(@ () (© (@

A) () @) @Gv) @)

B) ) @@ @) @GQv)

© O @ @ @)

(D) Gv) @) @G @)
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10.

11.

FYTROT ART 57 1 TS €

(A) 3TICTET BTG 3IR SHREMT SUNT

(B) Twae TG, Ul @ 3R HREHT
IR

(C) VeIl R AN S 3TveaeT
LR

(D) 9o o 3R fospa weE faaeor
IR

AfBe (A) : 3 F SR B W ST
e frcrn & S8 o afea
T o g f5ar S €, ov-ge
T § T TE gl S |

qE (R) : I 37T ST AT AT
T ¥, TWOW TW OIEAERSH H
forafed =7t fopan ST |

(A) (A) 3R (R) I &l E, T (A) T
(R) TEl TrehToT e € |

(B) (A) 7T §, W= (R) el & |

(C) (A) 3 (R) THT W& & 37 (A)
(R) T& T |

(D) (A) Wl &, W= (R) T & |

TR W foa) it

(i) o7 IS TS 3TRTA ST
(i) =] T

(iii) d @R A

(iv) @RT

T IFUE B T UK U hueE HINTT
T8 STariel 9 | aXeTdT UReTeTd el
(A) (i), (iv), (iii) 3T (i)

B) (), (ii), (iv) 3 (iii)

(C) (iv), (ii), (iii) 3T (i)

(D) (i), (iv), (i) 3 (ii)

HTHT=IaET | o5k i G &Il &
(A) T H 3T
(B) = & 3R
(C) HE& B
(D) T B

J-08-12

12.

13.

14.

frfafad ® | &9 & Qo7 gfaerer &

T HAT T 2

() harel 3R fasharell W dud o
|

(i) oIS & = TH W UESar T
|

(iii) SAET & WEAT W HE el T
g |

TR I H AT -

(A) T (i) 3 (ii)

(B) a (ii) 3T (iii)

(C) et (i) 3 (iii)

(D) = (i)

ATUHUT (A) : ST G SYIITAT 3T
TEtgd Sgel % qed H ST
T B A9 FeA ST ey
i

T (R) : T RN § fawem BW W
3Teha™ SUAITAT H HHY 3Tl & |

(A) (A) 3T (R) W& T E |

(B) (A) W&l ¢, W= (R) 71T & |

(©) (A)IAXR) WHE |

(D) (A) 7T &, W= (R) TEI € |

-1 1 -1 F GHfeT T AR we
I T TIT HINT -
Tl - 1 Tt - 11

(i) STWSEd  (a) NH T

(i) TRAIE (b)) THAH AT

(iii) fereprar (c) AEEIaH

I

(iv) e (d) vt Re

=

™ .

@ (b (© (@

A) () G Gv) @)

B) Gi) @) aGi) @Gv)

C©) @G @G @) @Gv)

D) Gv) i) G) @)
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15.

16.

17.

18.

19.

Consider the oligopoly models :

(1) Sweezy’s kinked demand curve
model

(i1)) Newman and Morgenstern Game
Theory model

(iii)) Cournal’s duopoly model

(iv) Baumal’s sales maximisation
model

Arrange them in correct sequence as

per order of evolution.

(A)  (iv), (i1i), (i1), (1)

B) (D), (), (id), (iv)

(©) (i), (@), (1), (iv)

D) (@, (1), (1), (iv)

Which of the following is not a restricted
random sampling technique ?

(A) Stratified sampling

(B) Simple random sampling

(C) Systematic sampling

(D) Multistage sampling

Classification of respondents only on
the basis of gender is an application of
(A) Ordinal scale

(B) Nominal scale

(C) Interval scale

(D) Ratio scale

Karl  Pearson’s  co-efficient  of

correlation between two variables is

(A) the product of their standard
deviations

(B) the square root of the product of
their regression co-efficients

(C) the co-variance between the
variables

(D) None of the above

Statistical ~ software packages for
research in social sciences include

(A) SPSS

(B) STATA

(C) MiniTab
(D) All of the above

Paper-1I

20.

21.

22,

23.

F-test is used to test the significance of
the differences between/among

(A) Two sample mean

(B) More than two samples mean

(C) Variance of two samples

(D) (B)and (C)

Match the following
List-I List-I1
(i) The Practice of (a) Henry
Management Fayol
(i) Philosophy of (b) F.W.
Management Taylor
(ii1) Scientific (¢) Oliver
Management Sheldon
(iv) General and (d) Peter F
Industrial Drucker
Administration
Codes :

1 () @) @Gv)

A (@ (B (© (@

B) @ (@ b (@

© @ (© (@ (b

D) @© (@ @b (@

Identify the correct sequence of steps

involved in planning :

(1) Selecting the best course of
action

(i) Establishing the
activities

(iii) Establishment of objectives

(iv) Evaluating alternative courses

(v)  Determining alternative courses

(A) (1), (i1), (iii), (iv) and (v)

(B) (iii), (v), (iv), (ii) and (i)

(C) (v), (iv), (iii), (i) and (i)

(D) (iii), (v), (iv), (i) and (ii)

Assertion (A) : One can be sure about
future course of actions by
making good plans.

Reasoning (R) : Planning brings
certainty in future course of
actions of an organisation.

(A) (R) is correct but (A) is not
correct.

(B) (A) is correct but (R) is not
correct.

(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are not correct.

J-08-12

sequence of



15.

16.

17.

18.

19.

ffafed seqiysr gfdes W foer

HIfTT

() TS 1 AGHTAd | 5 Aaey

(i) = R AR ©a g
PlisEou)

(iii) =IvTet T T5-31THeR ufaey

(iv) S o fasha STIshaHeoT Hiaey

W B foEE & FAMER T HHES

HITT |

(A)  (iv), (iid), (i), ()

B) (i), (1), (iii), (iv)

©) (iib), (1), (i), (iv)

D) (), (i), (i), (iv)

frefafea § @ % 9 aRdihd agss
T TR TEl € 2

(A) TR T

(B) WM Agfessh FHAT

(C) =Hared T

(D) Sg-|IAT AT

STIEIATRT B Hadd [ & MR W
FITHIOT FIAT STIHANT &

(A) SHHTT HTISHH

(B) e AMIHT

(C) 3T=TA HIIHH

(D) STIUId HIIHA

FHel ToRET & S el & o Gedwry
ot &

(A) STk B Taee 1 0GR ©
(B) 3T WA TUTIEHl o UG

kS
(C) =l % s Teloree
(D) SWiTd d § HiE Tel

g foee H eEYE % fow
HifeTenig ATReR dehst 9 Ginferd €
(A) TEdITHTH

(B) wWwATIAT

(C) TFre

(D) e g
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20.

21.

22,

23.

TH-Te0T 568 & dr/fo | 3T & Hewd
T IRIETOT X H WS FoBalT STl & 2

(A) & T AT

(B) & W Tk AT OTe

(C) T A & foraeri § 9%

(D) (B) &R (C)

freferfaa =t gafera S
e -1 =i - 11
() TURE AR  (a) T
HsTHe A
(i) Tl 3% (b) UH S
e I
(iii) TTEf=fre (c) 3TfeTa”
ST o
(iv) ST WS (d) dRT T
TUSRZAC RS
EELIRESAE]
R.

TM G i) (Gv)
A @ b)) (© (@
B) @ © O @
© @ © @ O
D) (© @ b @
e % fafiy=r GiomT o Geishe o 99
Ealsiey

(i) U & 9 g
(i) feramereTa & s o1 fuRoT
(i) SE¥AT = T

(iv) SreR{cass OmT T Godish
(v) de{cdeh AT o (ol
(A) (), (ib), (i), (iv) 3T (v)
B) (i), (v), (iv), (i) R (i)
(©) (v, (iv), (i), (if) 3 (i)
(D) (i), (v), (iv), (i) 3 (i)

AUFHYT (A) : TST ST & FEor F
qrersT & & oty & uid e
T ST hell & |

T (R) : U TS & Ao & o fafa
o ffradar emar & |

(A) (R) I8, T (A) TeAd € |

(B) (A) W&l &, W] (R) ToId & |

(C) (A) AT (R) I T E |

(D) (A) 3R (R) I T € |
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24.

25.

26.

27.

According to Kieth Devis, which one
1s not a barrier of communication ?

(A) Physical Barriers
(B) Technological Barriers
(C) Personal Barriers

(D) Linguistic Barriers

While establishing relation between
Maslow’s and Herzberg’s theories,
which Needs of Hierachy Theory will
fall under the Hygiene Factors ?

(A) Self actualisation, esteem and
social needs

(B) Esteem, social and safety needs

(C) Social, safety and physiological
needs

(D) Only social needs

Howard-Sueth model of consumer
behaviour is popularly known as

(A) Machine Model
(B) Human Model
(C) Marketing Model
(D) Purchase Model

To generate and facilitate any
exchange intended to satisfy human
needs or wants such that the
satisfaction of these wants occur with
minimal detrimental impact on the
natural environment is known as

(A) Aggressive marketing
(B) Operating marketing
(C) Green marketing

(D) All of the above

Paper-1I

28.

29.

30.

31.

32.

All the activities involved in selling
goods or services directly to final
consumers for personal non-business
uses are done by

(A) Wholesalers

(B) Retailers

(C) Mediators

(D) Commission Agents

To manage a business well is to
manage its future and to manage the
future is to manage information is
termed as

(A) Management information system
(B) Marketing information system
(C) Future information system

(D) General information system

DAGMAR approach in marketing is
used to measure

(A) Public relations

(B) Advertising results
(C) Selling volume

(D) Consumer satisfaction

Which one is not an important
objective of Financial Management ?

(A) Profit Maximisation

(B) Wealth Maximisation

(C) Value Maximisation

(D) Maximisation of social benefits

Which one refers to cash inflow under

payback period method ?
(A) Cash flow before depreciation
and taxes

(B) Cash flow after depreciation and
taxes

(C) Cash flow after depreciation but
before taxes

(D) Cash flow before depreciation
and after taxes

J-08-12



24, FT foq F AR FAfefead & ¥ B

25.

26.

27.

{1 GOUR | 3e)Y Tel € 2
(A) ifqe TRy
(B) VRN 3TeRIY
(C) AT g
(D) TS STeRTY

Rl SR &St & fogl ° g

T A H HHEFAT (GG i i qf

METIHAT  RTT  HRBI & 3w

aigha gt 2

(A) @ dIRAfOHE, el 3R
AT ST

(B) Widwr, @SR R gl

.

(C) Wi/, T[T R IRNH
SMETHATE

(D) et AT ST

ST SRR T ges-ggd Hied
T 3T Ak UG5 AT & ST ST &
(A) T Hee

(B) HMd ATSH

(C) Tauur Aed

(D) T HigdA

AT STETIHATS STET STl bl qie
% oo ot fafma &t 3= ST 3T
Qe S, S TE SEvEsare B
qfte A §T ITHT WHah TIERI T
AT A &, 3H ST ST &

(A) TS Ao

(B) vETetsh faaur

(C) &Ra foqum

(D) SR Tt
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28.

29.

30.

31.

32.

I3 3T FanaT i yegeraan 3ffaq
I a% ok R H, ST OFSR IR
AN FaT % forw o s €, fae
g 2

(A) = Toshar

(B) @& fershar

(C) "™

(D) et

frdl e &1 3D YoreT HAT Ao
H T HEAT § A AT B T
YT T T €, SH HET ST &

(A) I U T

(B) =T Ugfd foqu

(C) alt g ugta

(D) M gl TS

foqoe & E1. T S, UH. U AR U 6
AT fRg Tro | fehar e € 2

(A) P qHH

(B) o= & uRomH

(C) Taskar afmToT

(D) SquierT it

foriia vemm & fog, FAfarad o 9 &
T ST 323 Tél § 9

(A) T 3TATHIHIOT

(B) o gwfa Srcaiehiehior

(C) T STAMHIEHIT

(D) WTHISTE T 3TCTTIehiehoT

T A STEY UEia % S AT

TaTE Toh g ot ST e € 2

(A) T T H ¥ 9d TR 6

(B) B 3N A &% 1% TRl TaTE

(C) T &% T¥dId WR &I 9 Y &l
LIRS

(D) TH ¥ 99 R R & IvAd &l
PEIES
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33.

34.

3s.

The concept of present value is based
on the :

(A) Principle of compounding
(B) Principle of discounting
(C) (A)and (B)

(D) None of the above

Cost of capital from all the sources of
funds is called

(A) Specific cost
(B) Composite cost
(C) Implicit cost

(D) Simple Average cost

Match the following with most suitable
option :

(a) Modigiliani- (i) Commercial

Miller papers
Approach

(b) Net Operating (ii) Working
Income Capital
Approach Management

(¢) Short term
Money
Market
Instrument

(iii) Capital

Structure

(d) Factoring
Codes :

(@ b (© @
(A) (v) () @ ()
B) (i) Gv) @ (D)
© Gi) G @ Gv)
D) @) a) Gv) (@)

(iv) Arbitrage

36.

37.

38.

Which four are the factors influencing
the Human Resource Management of
an organisation ?

(1)  Size of workforce

(1) Employee Expectations
(iii) Composition of workforce
(iv) Political influence

(v) Changes in technology
(A) (1), (1), (iii) and (iv)

(B) (1),31), (ii1) and (v)

(©) (D), (i), (iv) and (v)

(D) (1), (iii), (iv) and (v)

Assertion (A) : One can not be sure
about the quality of appraisal on
the basis of length of service.

Reasoning (R) : Initial appraisal and
promotional appraisal are done
separately and differently since
the length of service is different.

(A) (R) is correct but (A) is not
correct.

(B) (A) is correct but (R) is not
correct.

(C) (A) and (R) both are correct.
(D) (A) and (R) both are not correct.

Which of the following are covered
under the scope of Human Resource
Management ?

(i) Forecasting Human Resource
Needs

(1) Replacement Planning
(ii1)) Human Resource Dynamics

(iv) Human Resource Development
Planning

(v) Human Resource Audit
(A) (@), (1), (v)

B) (@), (i), (iii), (v)

(©) (iid), (v)

D) (@), (1), (i), @v), (v)



33, SAHM G i STTERON R ¢ 36. O WeT % UG GEEH YA
(A) o fgr o TIferd S et i ¥ IR R & 2
() 9| A H HR
(B) et Rt i) i o o
(©) (A) 3R (B) (iii) = T P G
(D) Wi | ¥ T T | (iv) TGS TE
(v) Wi 9 aiede
‘ . (A) (i), (i), (iii) 3R (iv)
34. ® ® 1:13 AT & UST AN R B . i), i) 3 W)
R (©) (i) (i), (iv) 3 (v)
(A) fafere @mE D) (), (iii), (iv) 3T (v)
(B) e TTT
) e e 37. fee (A) : QAT-SET % 3MER W 5
© el T[oTerT WX Tohel i Feh
(D) 9MEMN A™Ed HTd e & g |
% (R) : URMI® T TS Gosd
R = Sl N ST et Tedieh 3ToTT-3TRT SR faf=iar &
fopa ST & ifer Qe o qErer i
1 - BA T |
Tt - 1 Tt - 11 (A) (R) W&l T (A) T & |
(a) HEMEEAr- (1) oA (B) (A) W&l ¢, W] (R) Tod & |
fer 3umm LA ©) (A W(R)ﬁﬂﬁ%l
AT S — (D) (A) 3R (R) I T € |
fﬁ . 38. THAfciEd & 9 &9 9 TFg THET =T
(c) FFegshifers  (iii) ST G Ft ufef % T o 0
ST TR TI (i) TFa T STEvaskdst W
(d) e (iv) 3mfaest ECiGuIE]
. (i) g s
& (iii) | GG TR
@ @® © @ (iv) THa Faee o HaeH
(A) (v) (i) () (i) (v) WS THEA TR0
®) i) Gv) () (i) (A) (), (), (v)
o e B) (), (i), (iii), (iv)
(©) @@ Gy @ (av) ©) (i), (v)
(D) (i) () Gv) @) D) (1), (i), (iii), (iv), (v)




39.

40.

41.

On which of the following, at the
initial stage, the Indian IT companies
relying more for getting good IT
professionals ?

(A) Job Portals

(B) Placement Agencies

(C) Campus Placement

(D) All of the above

Statement (i) : Labour always get a
major share of productivity
gains.

Statement (ii) : Partial stoppage of
work by workers amounts to
strike.

(A) Statement (i) is true but (ii) is
false.

(B) Statement (ii) is true but (i) is
false.

(C) Both statements are true.

(D) Both statements are false.

Imperial Bank was established on
January 27, 1921 on the advise of

(A) J.M. Keynes
(B) Lord lllingworth
(C) King George V

(D) Winston Churchill

42,

43.

44.

Read the following events :

(1) Allowing convertibility of rupee
at the market rate in the current
account

(i1) Nationalisation of
insurance business

general

(ii1) Establishment of IDBI

(iv) Nationalisation of life insurance
business

(v) Capital adequacy norms for
commercial banks

Arrange the events in the ascending
order of their occurrence :

(A) (i), (iib), (i1), (@), (V)
B) (), (iv), (iid), (iD), ()
(©) (@), (i), (i), (v), (iv)
D) (@), (v), (i), (v), (iii)

In India, the Commercial Banks are
given license of operation by

(A) The Government of India
(B) The Ministry of Finance
(C) Reserve Bank of India

(D) Banking Companies Regulation
Act, 1949

The provisions of General Reserve in
Banking Companies are made keeping
in view the provisions of

(A) Indian Companies Act, 1956
(B) Banking Companies Act, 1949
(C) SEBI Act, 1992

(D) Statutory Auditor



39.

40.

41.

ORAE T 3 WAl I o A
TR BT U HH & [0 TR
Faen ° efaiea § 9 69 W aAfus

TR et © 2

NSRS
(B) T wSiteEl
(C) uRE &I
(D) SUE g

APMHAT (i) : 97 TT IARHAT AN
& 91T I UTe o € |

ARHAT (ii) : ATHRT FRT AT T ATRIH
foRTH EEaTel I € |

(A) FEA (i) W& §, W (i) T
g

(B) IR (i) WEl &, W= (i) o
T

(C) T 3tfivere el & |
(D) ST SANTHLT T € |

TES dh SHel 27, 1921 i fehgent
TeATe TR wenfua feam T o 2

(A) . T w4
(B) S EiorTered
(C) fmTs v
(D) forged afae

42,

43.

44.

At gearet W foem Sy
(i) = @ H SR S W T H

IREdRIerdT Sl A

(i) ST FETHT B AL FH]

(ili) 3T SN 3. B T

(iv) 9 Sed | SFadd
TR

(v) A St & folT OSil garear &
HAH

T "I & "ied g % 99T H A |
@ U ARIEN 558 | e HifoT :

(A) (), (id), (i), (), (v)

B)  (v), (iv), (iid), (iD), (1)

©) (), (), (id), (v), (iv)

D) (@), (v), (i), (v), (iii)

IRA H SARS bl T 6] FA o o
EET B 3T & 2

(A) R THR

(B) fo g=merd

(C) Tt g @itw gfogan

(D) ST et fafTem sitafaam, 1949

ST HEE & A e % e
HI, =fefed § 9, 69 & wagE &
T T T T

(A) 9RAE HEAT AHFEE, 1956

(B) SIfehTT T Sitaf=m, 1949

(C) et (@ § & o7 arfufram, 1992

(D) FaHTeh 37oheTh




45.

46.

47.

Which among the following is not true
with regard to merchant banker ?

(1) It can accept deposits.
(i1) It can advance loans.
(ii1)) It can do other banking activities.

(iv) It can be manager to a public
issue.

(A) (1), (1) and (ii1)
(B) (i), (11) and (iv)
(C) (1), (ii1) and (iv)

(D) (1) and (iv)

Balance of Payments can be made
favourable if

(A) Exports are increased
(B) Imports are increased
(C) Devaluation of money

(D) (A)and (C)

Which one is not an objective of IMF ?

(A) To promote international
monetary co-operation

(B) To ensure balanced international
trade

(C) To finance productive efforts
according to peace-time

requirement

(D) To ensure exchange rate stability

48.

49.

50.

EPCG denotes
(A) Export Potential and Credit
Guarantee

(B) Earning Promotion and Credit
Guarantee

(C) Export Promotion and Credit

Guarantee
(D) Export Potential and Credit
Goods

Which one of the following matches
correspond to the Member and
Observer countries of the SAARC ?

(i) India, Pakistan,
Bhutan, Nepal, Sri
Afghanistan, Maldive

Bangladesh,
Lanka,

(i1) Iran, China, Japan, USA, South
Korea, European Union

(ii1) Pakistan, Nepal,
Bangladesh, Iran

India,

(iv) UK, USA, North Korea, South
Africa

(A) (i) and (iv)
(B) (i) and (iv)
(C) (i) and (i)
(D) (i) and (iii)

Which one is not an international
organisation ?

(A) SAARC
(B) ASEM
(C) ASEAN
(D) CBDT



45.

46.

47.

e 9T o gy, [HEfaEd § 4,

I A e A ¢ 2

() I ST ARET H WHHR T Febel
T

(i) TEHOTIT GHATE |

(i) @& 77 dfkTT forareti i & Tehel
T

(iv) HESHe FTEA & Yo o ®9 H

I T GHAT & |
(A) (i), (ii) 3R (i)
(B) (i), (iii) 3 (iv)
(C) (i), (iif) 2R (iv)
(D) (i) ¥R (iv)

PIAH o I 3TheT Tl ST Tl
o

(A) THama =i g s

(B) 3TATA i 9@l ST

(C) TSI M e

(D) (A) 3R (C)

TTH | B G AE TH TF & 3e¥d el

T

(A) SFRIULE Higeh Feanm
TicHTed T

(B) Udfeld SFRIEE MR H
= =T

(C) TvMa-HA T TEvaHaren &
IFIEN SCESH T Hl fo wEH
HEAT

(D) fafas T =t ferar & gHt=a
HTAT

48. TSI (EP CG)F AmE &

49.

50.

(A) TTara anTTer ue | TR

(B) 3T &l Jolc U HE TR

(C) Tama =i JerEn 31 9rg TR=

(D) 7o Tvrer we | |

fr=ferfad 9 @ == @1 9 (T T T e
) I F O™ AR qgasTd 3 H
g € 9

(i) 9Rd, qIeRed™, SIS, Y,

AT, SeAehT, TR, HTeTR
(i) T, =9, SOE, JUAE, IR
I, R g
(iii) TeREAT, e, R, SR, R/
(iv) IF, JUAT, I I, IRI0T
3THRTSRT
(A)  (iii) 3T (iv)

(B) (i) 3R (iv)
(C) (i) 3 (i)
(D) (i) 3 (iii)

fr=fefad & & @9 T RIS T
T T2

(A) ¥ (TH T T 3N )

(B) TwHEUH

(C) TTEEUT

(D) wratera
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